
 
1) 

  AV987 

  D2 

  RD65 

  98 
 

 
Sud Ouest Nord Est 

1 Passe 2 Passe 

2 Passe 3* Passe 
? 
* Fit forcing 16 HLD et plus. 

2) 

  32 

  ADV86 

  A765 

  R3 
 

 
Sud Ouest Nord Est 

1 Passe 2 Passe 

2 Passe 3* Passe 
? 
* Fit forcing 16 HLD et plus. 

3) 

  ARD76 

  3 

  ARV65 

  V2 
 

 
Sud Ouest Nord Est 

1 Passe 3 Passe 
? 

4) 

  R876 

  A876 

  3 

  D1087 
 

 
Sud Ouest Nord Est 

  1 Passe 

3 Passe 4 Passe 
? 

5) 

  R876 

  A87 

  32 

  D1087 
 

 
Sud Ouest Nord Est 

  1 Passe 

3 Passe 4 Passe 
? 

6) 

  D10987 

  3 

  RD5 

  D752 
 

 
Sud Ouest Nord Est 

  1 Passe 

4 Passe 5 Passe 
? 

7) 

  D10987 

  3 

  AV5 

  D752 
 

 
Sud Ouest Nord Est 

  1 Passe 

4 Passe 5 Passe 

5 Passe 5 Passe 
? 

8) 

  R1076 

  3 

  A32 

  RD1098 
 

 
Sud Ouest Nord Est 

  1 Passe 

2 Passe 2 Passe 

3 Passe 4 Passe 
? 

 


